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Question Id : 87827041055 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041056 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270161241. 1
878270161242. 2
878270161243. 3

878270161244. 4

Question Number : 2 Question Id : 87827041057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270161245. 1
878270161246. 2
878270161247. 3

878270161248. 4

Question Number : 3 Question Id : 87827041058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270161249. 1
878270161250. 2
878270161251. 3

878270161252. 4

Question Number : 4 Question Id : 87827041059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270161253. 1
878270161254. 2
878270161255. 3

878270161256. 4

Question Number : 5 Question Id : 87827041060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270161257. 1
878270161258. 2
878270161259. 3
878270161260. 4

Question Id : 87827041055 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270161241. 1
878270161242. 2
878270161243. 3

878270161244. 4

Question Number : 2 Question Id : 87827041057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270161245. 1
878270161246. 2
878270161247. 3

878270161248. 4

Question Number : 3 Question Id : 87827041058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270161249. 1
878270161250. 2
878270161251. 3

878270161252. 4

Question Number : 4 Question Id : 87827041059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270161253. 1
878270161254. 2
878270161255. 3

878270161256. 4

Question Number : 5 Question Id : 87827041060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270161257. 1
878270161258. 2
878270161259. 3

878270161260. 4

Sub-Section Number : 2
Sub-Section Id : 8782701720
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827041061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle

(2) Canva

(3) Quizlet

(4) Mindmeister
Options :
878270161261. 1
878270161262. 2
878270161263. 3

878270161264. 4



Question Number : 6 Question Id : 87827041061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270161261. 1
878270161262. 2
878270161263. 3

878270161264. 4

Question Number : 7 Question Id : 87827041062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct

Options :



878270161265. 1
878270161266. 2
878270161267. 3

878270161268. 4

Question Number : 7 Question Id : 87827041062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161265. 1

878270161266. 2

878270161267. 3

878270161268. 4

Question Number : 8 Question Id : 87827041063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3) (A), (B), (D) and (E) Only
(4) (C) Only

Options :

878270161269. 1
878270161270. 2
878270161271.3
878270161272. 4

Question Number : 8 Question Id : 87827041063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161269. 1
878270161270. 2
878270161271.3

878270161272. 4

Question Number : 9 Question Id : 87827041064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270161273. 1
878270161274. 2

878270161275. 3



878270161276. 4

Question Number : 9 Question Id : 87827041064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161273. 1
878270161274. 2
878270161275. 3

878270161276. 4

Question Number : 10 Question Id : 87827041065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270161277. 1
878270161278. 2

878270161279. 3



878270161280. 4

Question Number : 10 Question Id : 87827041065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270161277. 1
878270161278. 2
878270161279. 3

878270161280. 4

Question Number : 11 Question Id : 87827041066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270161281. 1
878270161282. 2
878270161283. 3

878270161284. 4

Question Number : 11 Question Id : 87827041066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161281. 1
878270161282. 2
878270161283. 3

878270161284. 4

Question Number : 12 Question Id : 87827041067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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Options:

878270161285. 1
878270161286. 2
878270161287. 3

878270161288. 4

Question Number : 12 Question Id : 87827041067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270161285. 1
878270161286. 2
878270161287. 3

878270161288. 4

Question Number : 13 Question Id : 87827041068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270161289. 1
878270161290. 2
878270161291.3

878270161292. 4

Question Number : 13 Question Id : 87827041068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270161290. 2
878270161291. 3

878270161292. 4

Question Number : 14 Question Id : 87827041069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270161293. 1

878270161294. 2

878270161295. 3

878270161296. 4

Question Number : 14 Question Id : 87827041069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161293. 1
878270161294. 2
878270161295. 3

878270161296. 4

Question Number : 15 Question Id : 87827041070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270161297. 1

878270161298. 2

878270161299. 3

878270161300. 4

Question Number : 15 Question Id : 87827041070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270161297. 1

878270161298. 2

878270161299. 3

878270161300. 4

Question Number : 16 Question Id : 87827041071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270161301. 1
878270161302. 2
878270161303. 3

878270161304. 4

Question Number : 16 Question Id : 87827041071 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161301. 1
878270161302. 2
878270161303. 3

878270161304. 4

Question Number : 17 Question Id : 87827041072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270161305. 1

878270161306. 2

878270161307. 3

878270161308. 4

Question Number : 17 Question Id : 87827041072 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161305. 1
878270161306. 2
878270161307. 3

878270161308. 4

Question Number : 18 Question Id : 87827041073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270161309. 1
878270161310. 2
878270161311. 3

878270161312. 4

Question Number : 18 Question Id : 87827041073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270161309. 1
878270161310. 2
878270161311. 3

878270161312. 4

Question Number : 19 Question Id : 87827041074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270161313. 1
878270161314. 2
878270161315. 3

878270161316. 4



Question Number : 19 Question Id : 87827041074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270161313. 1
878270161314. 2
878270161315. 3
878270161316. 4

Question Number : 20 Question Id : 87827041075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270161317. 1

878270161318. 2

878270161319. 3

878270161320. 4

Question Number : 20 Question Id : 87827041075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 @ o ey g

F]: YO SR WEE § SR YR TGS d@l % 6 i & g & |
WL : TR H g IR H Yo WA 7 & Fefie w aw fom @ g

IR e & S W, T4 U T foeredl H § W S o I

1) HORIAR W T

D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
(
Options :

878270161317. 1

878270161318. 2



878270161319. 3

878270161320. 4

Question Number : 21 Question Id : 87827041076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1

3 11

4) 10
Options :
878270161321. 1
878270161322. 2
878270161323.3

878270161324. 4

Question Number : 21 Question Id : 87827041076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13

2) 15

() 1

(4) 10
Options :
878270161321. 1

878270161322. 2



878270161323. 3

878270161324. 4

Question Number : 22 Question Id : 87827041077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270161325. 1
878270161326. 2
878270161327.3

878270161328. 4

Question Number : 22 Question Id : 87827041077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270161325. 1
878270161326. 2
878270161327.3

878270161328. 4

Question Number : 23 Question Id : 87827041078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270161329. 1
878270161330. 2
878270161331. 3

878270161332. 4

Question Number : 23 Question Id : 87827041078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270161329. 1
878270161330. 2
878270161331. 3

878270161332. 4

Question Number : 24 Question Id : 87827041079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270161333. 1
878270161334. 2
878270161335. 3

878270161336. 4

Question Number : 24 Question Id : 87827041079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270161333. 1
878270161334. 2
878270161335. 3
878270161336. 4

Question Number : 25 Question Id : 87827041080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270161337. 1
878270161338. 2
878270161339. 3
878270161340. 4



Question Number : 25 Question Id : 87827041080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270161337. 1
878270161338. 2
878270161339. 3

878270161340. 4

Question Number : 26 Question Id : 87827041081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270161341. 1
878270161342. 2
878270161343. 3

878270161344. 4

Question Number : 26 Question Id : 87827041081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270161341. 1
878270161342. 2
878270161343.3

878270161344. 4

Question Number : 27 Question Id : 87827041082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270161345. 1
878270161346. 2
878270161347.3
878270161348. 4

Question Number : 27 Question Id : 87827041082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270161345. 1
878270161346. 2
878270161347. 3

878270161348. 4

Question Number : 28 Question Id : 87827041083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270161349. 1

878270161350. 2

878270161351. 3

878270161352. 4

Question Number : 28 Question Id : 87827041083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |

) oIS FoIFers e e 8 |

) FS IR-YIFER! aUh 7ol © |

) FO TR-YFerR! IR-gmifE Tl ¢ |

Options :

878270161349. 1

878270161350. 2

878270161351. 3

878270161352. 4

Question Number : 29 Question Id : 87827041084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270161353. 1
878270161354. 2
878270161355. 3

878270161356. 4

Question Number : 29 Question Id : 87827041084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270161353. 1
878270161354. 2
878270161355. 3

878270161356. 4

Question Number : 30 Question Id : 87827041085 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270161357. 1

878270161358. 2

878270161359. 3

878270161360. 4

Question Number : 30 Question Id : 87827041085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270161357. 1



878270161358. 2
878270161359. 3

878270161360. 4

Question Number : 31 Question Id : 87827041086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270161361. 1
878270161362. 2
878270161363. 3

878270161364. 4

Question Number : 31 Question Id : 87827041086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270161361. 1
878270161362. 2
878270161363. 3

878270161364. 4

Question Number : 32 Question Id : 87827041087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270161365. 1

878270161366. 2



878270161367. 3
878270161368. 4

Question Number : 32 Question Id : 87827041087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270161365. 1
878270161366. 2

878270161367. 3



878270161368. 4

Question Number : 33 Question Id : 87827041088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270161369. 1

878270161370. 2

878270161371. 3

878270161372. 4

Question Number : 33 Question Id : 87827041088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270161369. 1

878270161370. 2

878270161371.3

878270161372. 4

Question Number : 34 Question Id : 87827041089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270161373. 1



878270161374. 2
878270161375. 3

878270161376. 4

Question Number : 34 Question Id : 87827041089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270161373. 1
878270161374. 2
878270161375. 3

878270161376. 4

Question Number : 35 Question Id : 87827041090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270161377. 1
878270161378. 2
878270161379. 3
878270161380. 4

Question Number : 35 Question Id : 87827041090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270161377. 1
878270161378. 2
878270161379. 3

878270161380. 4

Question Number : 36 Question Id : 87827041091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270161381. 1
878270161382. 2
878270161383. 3

878270161384. 4

Question Number : 36 Question Id : 87827041091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270161381. 1



878270161382. 2
878270161383. 3

878270161384. 4

Question Number : 37 Question Id : 87827041092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270161385. 1

878270161386. 2

878270161387. 3

878270161388. 4

Question Number : 37 Question Id : 87827041092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270161385. 1

878270161386. 2

878270161387. 3

878270161388. 4

Question Number : 38 Question Id : 87827041093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270161389. 1



878270161390. 2
878270161391. 3

878270161392. 4

Question Number : 38 Question Id : 87827041093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270161389. 1
878270161390. 2
878270161391. 3
878270161392. 4

Question Number : 39 Question Id : 87827041094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270161393. 1
878270161394. 2

878270161395. 3
878270161396. 4

Question Number : 39 Question Id : 87827041094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270161393. 1
878270161394. 2
878270161395. 3
878270161396. 4

Question Number : 40 Question Id : 87827041095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270161397. 1
878270161398. 2

878270161399. 3

878270161400. 4

Question Number : 40 Question Id : 87827041095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) feiT i (ZHH Ael 1) ¥
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(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270161397. 1
878270161398. 2
878270161399. 3

878270161400. 4

Question Number : 41 Question Id : 87827041096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270161401. 1
878270161402. 2
878270161403. 3
878270161404. 4



Question Number : 41 Question Id : 87827041096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270161401. 1
878270161402. 2
878270161403. 3

878270161404. 4

Question Number : 42 Question Id : 87827041097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270161405. 1
878270161406. 2
878270161407. 3

878270161408. 4



Question Number : 42 Question Id : 87827041097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270161405. 1

878270161406. 2

878270161407. 3

878270161408. 4

Question Number : 43 Question Id : 87827041098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701614009. 1



878270161410. 2
878270161411. 3

878270161412. 4

Question Number : 43 Question Id : 87827041098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161409. 1
878270161410. 2
878270161411.3

878270161412. 4

Question Number : 44 Question Id : 87827041099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270161413. 1

878270161414. 2

878270161415. 3

878270161416. 4

Question Number : 44 Question Id : 87827041099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270161413. 1
878270161414. 2
878270161415. 3

878270161416. 4

Question Number : 45 Question Id : 87827041100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270161417. 1
878270161418. 2
878270161419. 3

878270161420. 4

Question Number : 45 Question Id : 87827041100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270161417. 1
878270161418. 2
878270161419. 3

878270161420. 4
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Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270161421. 1
878270161422. 2
878270161423. 3

878270161424. 4



Question Number : 47 Question Id : 87827041103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270161425. 1
878270161426. 2
878270161427. 3

878270161428. 4

Question Number : 48 Question Id : 87827041104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270161429. 1

878270161430. 2

878270161431. 3

878270161432. 4

Question Number : 49 Question Id : 87827041105 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270161433. 1

878270161434. 2

878270161435. 3

878270161436. 4

Question Number : 50 Question Id : 87827041106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270161437. 1

878270161438. 2



878270161439. 3

878270161440. 4
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